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Directions: Write the answer in the box next to each problem.
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Directions: Write the problem that goes with each array on the
line below. An example has been done for you.

HEEE

ejejele

ejejele

JIJJITTITITTTTTTTTTTTT99T93993939393939393933939334949

ejejele

ejejele

JIIIIIIIININIIIIIIIIIIIIIII3I3d3dId30343039303d3834303039393d383d303 03

JIJJTTITTITTITTITTTTT399T93939393939393939339339393349G9



9934343434343 4343434343 434393434343 43 434343434343 43 4343434343343 43934343 33

s o o o

Four on the Floor Cont’

s o o o

s o o Joms

s o o o

s o o o

ejejeje

ejejele

ejejele

JIJJITTITITTTTTTTTTTTT99T93993939393939393933939334949

JIIIIIIIININIIIIIIIIIIIIIII3I3d3dId30343039303d3834303039393d383d303 03

JIJJTTITTITTITTITTTTT399T93939393939393939339339393349G9



JIII3IIIIIIIIIIIIIIIIIIII3434393dId30343039393d3434343 039393434343 43 03

TEACHER Bocxmons:

"Four on the Floor” Answer Key
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4 x4- 16 6x4-= 4 1x4-= 4
Bx4-= 20 2x4- g 8x4-= 0
3x4-= 12 7x4-= 8 10x 4= 40
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